Combined Graduate Level Examination 2020 Tier-I

[Exam Date 16/08/2021
Exam Time 3:00 PM - 4:00 PM
Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 ag faerey g+ oo g1 Sy Ueh o 9 ST avg @ ddfad § o i Ry g Je 6 ded
Teh gk & Hafda g1
(16,12, 32)
Ans <7 1.(36,27,77)
7< 2.(20,15,42)
< 3. (56, 24, 68)
X 4.(76,57,176)

Question ID : 81616112823
Status : Not Answered
Chosen Option : --

Q.2 Ty g T 3R sl i ear & a1 oAl | § 1€ SRl ot 9ed A g, W @ a8
YW= w9 @ A4 a2t 9 3= udia g, RuffRa & 6 w9 9 fAced Ry 1o sumt o sifdhes =u
@ IR et 1

HY:
gaft Tefen, ufauremet g1
g agfaral, 7l g1

foreentf:

. o wisfaar, ufawenett g1
1. Toft ufasmrenett, srefrat &1
1. gaft srsfarat, ufaamemsh &1

Ans 7 1. %had (SR | STEROT R &
7< 2. Faet et || STgEROT heaT &
75 3. Rt | SR 1| ST SIgERUT &hd &
X 4. Fae sy 1] SeRoT et &

Question ID: 81616112414
Status : Answered
Chosen Option : 1




Q.3 Sid YT K chl SHchl HIT 9T H uU" Tchyl Sildl g, di ﬂulqlhT'l 120U HIW glidl g1 Sid HEUT X
ol ST Y | SIS ST g, of G 106 TS giar &1 ST Y &l 919 3T ke | (Tearsil el
STeHeh ATH)

Ans X 1.61

& 2.71
< 3.87

XK 477

Question ID: 81616114138
Status : Not Answered
Chosen Option : --

Q.4 foreft fafaie gpesimar & 'AND’ &l 'C-LP-F’ & w9 # 3fiR ‘NOR’ &} ‘P-MQ-T' & &u # forar siar g1
at It wrar 7 ‘BUT’ vt §:9 fora smaem?

Ans X 1.CTV-W
2 2. D-SW-U
K 3.CSUV
7 4.D-SW-V

Question ID : 81616112410
Status : Answered
Chosen Option: 4

Q.5 R gui-ggg 4y g & fomd @ ofiv freh W2 & g 991 & ok 379 @ ok orTa 159
ST quf-THg o1 T &R
Ans X 1.BEHK
% 2.QTwz
<7 3.NPSV
%K 4.XADG

Question ID : 81616113921
Status : Answered
Chosen Option: 3

Q.6 < ar wiwar-gm fig g § e & i fonelt deof & g w9 € ofk S5 @ o s 139
ST HEIT-JIH ohT TG i |
Ans  # 1.4327:2003
7< 2.2347:1113
< 3.3527:2293

< 4.5237: 4003

Question ID : 81616112821
Status : Answered
Chosen Option: 3




Y./ T1&QQIIY IdecheUl H ¥ dg dUI-HHg Y- SiI I IeRdd 3dell H WA G (1) ch ¥4I U SHIYrs
BOARD, BOARW, BOAIW, ?, BLZIW, YLZIW
Ans X 1.BLZRW
«/ 2. BOZIW
75 3.BOZRW
X 4.BOAIW

Question ID : 81616114121
Status : Answered
Chosen Option: 2

Q.8 & o ofic F AT TH U (FYA) T T ¥ 30 AT 1 W, A 3R T Fo F el T
Tk 9T HIA-AT e gem?

A

Bk

I

U E |

Ans 1]
X2V
X3 U
x4 F

Question ID : 81616112828
Status : Answered
Chosen Option: 1

Q.9 fig g feedl # & ag dwear gH sit e e d usifg (7) & w=e wR sgeft?
37,52,74,104,143,?

Ans X 1.168
x 2.202
< 3.176

7 4.192

Question ID : 81616113930
Status : Answered
Chosen Option : 4




TR : 3BT : : WHEESISA ; ?
Ans o 1. 3EE

K 23R

X 3. duRag

XK 4. AR

Question ID : 81616113923
Status : Answered
Chosen Option : 1

Q.11 S1&Ri & I HalST &1 T &3 it & 7 sjaen J R ®IET & shfie &0 3 @ 91 W siae &
gof &

b_ce_kb_c_fkbb_ef_bbc_fk
Ans X 1.b,f,b,ceke

K 2.b,eb,fcke

75 3.b,f,bec ek

«” 4.b,f,becke

Question ID: 81616114129
Status : Answered
Chosen Option : 4

Q.12 7o RgT &1 ag 9 Jatsr g O s w0 @ * RgT & = R @ § aeiieor dgfoa
& streEm
36*14*63*9*11*(6*3)*90

Ans X 1o+ %, %o+ =

K 2.4, 4,%,5, 4+
XK 3o+ 5 %5+
P A X =

Question ID : 81616112824
Status : Answered
Chosen Option : 4

Q.13 fohedt fafre ewmur |, ‘SAFETY’ @t ‘95’ 3k ‘EXPAND’ <kl ‘87’ & %4 H sheag fohar man g, at
St uTuT & ‘GATHER' aht & forar sirgam?

Ans X' 1.84
7 2.86
753.88
* 4.90

Question ID: 81616112815
Status : Not Answered
Chosen Option : --




1% o foweT T4 TSEd & 77 HIpia FieATed § (ATepicr AW g1 2)l

=2

s 21|

Ans

Question ID : 81616114142
Status : Answered
Chosen Option: 1

Q.15 = ar 2rez few e & A= @ fiw foreht Teof A ver gum= § ik 379 9 Uen ST @1 99 S|
Teg, T TAT <R3

Ans X 1. oTeEd

PR i
X 3. ifgwa

K 47w

Question ID : 81616112811
Status : Answered
Chosen Option : 2

Q.16 QeF FTSeht i IR Y 31X SART X §Y A= = g, “ag AR e Fi #f Fi 3 & soredta wE H
&1 g1” < rua & T o1 39 Ash hY 7F S oar dau g2

Ans X 1.\
7 2.9
X 3. far
< 4.5

Question ID: 81616114130
Status : Answered
Chosen Option : 2




W1/ gfe 90T F MN W I@T AT ¢ aF 8T 31T JAST &7 Hel guuT Jiates sfad Hifse?

Mvtkrdf

"xYbhbJIAIVM
<INAEFNKK(]L
<~3dPINITAM
“YTbhbi1AIVv M

QuestionID: 81616114143
Status : Answered
Chosen Option : 4

Q.18 og gl ferea A it Y 71 A5} ol 39 v A F2rfen & o & sifisht rsganter # smd €1

1. Success
2. Surreal

3. Succumb
4. Suction
5. Surrogate
6. Surprise

Ans X 1.1,4,3,6,2,5
< 2.1,3,4,6,5,2
< 3.1,3,6,4,2,5
7 4.1,3,4,6,2,5

Question ID : 81616113920
Status : Answered
Chosen Option : 4

Q.19 ag faerea g =it et e & S uaR Hefa g, 9 TR geR e ugel de @ wafda
gl

21:445::24:?
Ans X 1.495
75 2.505
< 3.523
7 4.580

Question ID: 81616112416
Status : Answered
Chosen Option: 4




QAU R T fSehedl A @ 98 Apa I A Fe YEeT # WARES (?) F T WA

] -
< L]

~|L]]
11

Ans

Question ID : 81616113937
Status : Answered
Chosen Option: 3

Ans x 1. 13
2 15
X317
<419

Question ID : 81616112827
Status : Not Answered
Chosen Option : ==




W22 3 & S HF A TS & Th ghS H ASA F FA AR SH {3 T FIA A w0
AT ¥ SH FETT B Wil I T Far @em?

Ans

Question ID : 81616114144
Status : Answered
Chosen Option: 3

Q.23 RrAfafd 9 3INW & 37 IRART H7 GEA gUis 71§ § Siegler dieT 3oer-3renT TE (iR, Riser,
pocolcae: Eilca il

s

Eycic
gmﬁﬁmm%mm,mmmﬁ@wﬁmamﬁﬁwﬁ
As %115
<3 34
4 49

Question ID : 81616112428
Status : Answered
Chosen Option: 4




Q.44 dg Idchey ‘g?l TOIHH HEUIY Ych {’H’{ ¥ 3 kg H Hdl¥d Al & S Ald e 111G HC chl HYIY Ych
TR 9 Hafda g
(7,21, 49)
Ans <« 1.(9,27,72)
K 2.(8,24, 64)
2 3. (6,18, 36)
K 4. (5,15, 25)

Question ID : 81616112418
Status : Answered
Chosen Option : 2

Q.25 39 e o1 T+ R /e el & 7 gt Ja &, Sit Y 70 eg-gw & ereal A gl
Ea-fAfhees : sremare
Ans X 1. SldeR: ITAR
X 2. szt : gfe g
2 3. arfgar : fasmga
« 4. TheR : fagfdemeg

Question ID: 81616114126
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 3mmad aroft , srafiie dga-FuneTs deiter 3 srafties dg-erTeTe &R U1y B g
31 gt &:
Ans X 1.gEM &I
X 2. &g e E1g
#< 3.3<pE u1g (Noble metals)
<« 4. IpE 19 (Noble gases)

Question ID : 81616114154
Status : Answered
Chosen Option: 1

Q.2 = & ol 3 Aar 3, [l RAerra & gad= § sragain siiele R w6 SIrasdehdl &
TR & Hgre et @ wHEA  wgegof offien P oft?

Ans X 1. HigETE orefl S
2K 2. HIATT 31T HATH SUTAIE
< 3. g THRER @
<7 4. 2Rd el

Question ID: 81616114160
Status : Not Answered
Chosen Option : --




Q.3 XN, 9T d-, Udiel THIUT IR HUId
Ans X 1. SMdR

K 2. TN

X 3. gl

& 4. UIRIRAdeh

dId¥dl <hl IdRANdIY 61

Question ID : 81616113949
Status : Answered
Chosen Option: 4

Q.4 R & AU T 3D 21A, I SHTASHR UEH et gl
Ans X 1.@6

X 2. Fsmar

< 3. g

7 4. R

Question ID : 81616114165
Status : Answered
Chosen Option : 4

Q.5 YRS, WA iR gei=as &1 g gl
Ans X 1.T%he

K 2. Bhe
K 3. wEHE
7 4. Rifede

Question ID : 81616113955
Status : Answered
Chosen Option: 4

Q.6 2020 ¥ f5=1 & 9 foFe Tog A gad=R WidH Uz a9 gRew gdhedl (ASSTA) gr1 sierfgia
RresEn agicTa &1 smats forar wam ur?

Ans X 1.8gx
K 2. RES
7 3. %A
K 4. s

Question ID : 81616112834
Status : Answered
Chosen Option : 2




Q./ I AT ST Gob S THT UISTHT § STl THE H ¥ 1ch¥ IS ohl {3y U1 HISIGT <kl cha¥
et 82
Ans X 1.39H
X 2. vt
WER CLt i
K 4. TR

Question ID : 81616112839
Status : Answered
Chosen Option: 1

Q.8 = & @ form anf & 9 gereret o ametor &4 F avmaa gf o
Ans X 1.1790

7 2.1875
2 3.1905
2 4.1890

Question ID : 81616112846
Status : Not Answered
Chosen Option : --

Q.9 =1 # & fohe o0 W 7 SIaRt 2021 # fAffa ¥ (manufactured sand) @ arg-urefifera fife
o IR fRar &2

Ans X 1.78RIE
X 2. 7 TR
X 3. oRE
7 4. TSI

Question ID: 81616113968
Status : Not Answered
Chosen Option : --

Q.10 513 simeeTdia Rvew mrgtea & 2Rt ey & & R arer a1 w1Ref e GReT Sftem?
Ans X 1. ifBary s=m

& 2. freefia welt

2K 3. amam 9

K 4. e AT

Question ID: 81616114163
Status : Answered
Chosen Option: 1




Q.11 U9 bl HIE.ULYA. (IPL) WISl Ishehe €4 chl HIEIG U Rl §¢
Ans X 1.9LTa. (CL)

7 2. €17E.3, (CSK)

% 3.49T. (CA)

X 4.t zseg, (GCW)

Question ID: 81616113964
Status : Answered
Chosen Option: 2

Q.12 26 STaRY 2021 T Ut WFhRI &h STJHR AR HT & IeEl hiIF 57
Ans o7 1.9 fagen

P AL ICERIECT

K 3.9t Tgr

X 4. oy &g

Question ID : 81616113960
Status : Answered
Chosen Option : 1

Q.13 1 # 9 R 1876 A sherepit A 2307 TEIRG2M Y w91 ek R Wty srigle 6
Cickeciv
Ans X 1. TR ARSI
7 2. Qe IS
< 3. AW A e
X 4. R gy

Question ID : 81616112444
Status : Answered
Chosen Option: 1

Q.14 SRt 2021 # i T gRT SR} ‘WA TaraR Ya@icn’ & fda dwmor d A J @ Fe-
Traea fif w2

Ans X 1. afAeErg
«F 2. Fieh
K 3. srigmRer
7< 4. uene

Question ID: 81616112836
Status : Answered
Chosen Option : 2




W. 10 SHU, HYE ch Hedch HQ¥ ch *YridH NIQIH H ©IC SIgUId H Iehthiddl add <hl deldl Heldl g1

SHG # 'H' @1 i aref 82
Ans X 1. Habitat (8fz)
X 2. Heavy (&)
#< 3. Harvest (g1d%)
<7 4. Help (8<0)

Question ID: 81616114148
Status : Answered
Chosen Option: 1

Q.16 = & & 1 1 Sfeeh | 81 82
Ans X 1. &R AR

X 2. g

7 3. SEATERAT

X 4. sREg g S

Question ID: 81616114156
Status : Answered
Chosen Option: 3

Q.17 ‘Seufear AREs Isa 6t & ek FAtenftra Aefl/amet 21
Ans X 1. gfdder

7 2. F=ae

K 399

X 4. 9fa

Question ID : 81616112429
Status : Answered
Chosen Option: 1

Q.18 fA=fafaa & @ fora <Ter At 'R <h1 Auifera=T gt ST &2
Ans X 1.310H

7 2. 90

< 3. T |

X 4. fagEr

Question ID : 81616112441
Status : Answered
Chosen Option : 2




Ans o 1. S0 U9TE (Zeeman effect)
7% 2. SifaA g9 (Domino effect)
X 3. dviles u (Bezold effect)
X 4. 3rhRas uoa (Askaryan effect)

W. 1Y ®iJcdch YelchlY &3 <hl SUIRIc H dUIshHIY X1 ch chg Ycchl H IdHISTH ch UHI <hl il chgdd 67

Question ID : 81616112433
Status : Answered
Chosen Option: 1

&Y A el 82
Ans X 1.#f%ss

K253
<7 3. SHRE

K 4375

Q.20 =1 & 9§ HI-9T 3T gIESIaAIRe SrT HIfdd THRaT & Sil TSIk AaRAT ohl ARA # gAR MR

Question ID : 81616112436
Status : Answered
Chosen Option: 3

Ans X 1.5
X} 2. S
X 3. sisfier
& A.dm

Q.21 2020 & T STFeRRT & IIFER 11 7 F i A1 321 Tgeh AL Ram uRug o1 Wk 9w g2

Question ID: 81616113966
Status : Answered
Chosen Option: 4

Q.22 sRsfiw P A @ fRra s d R @2
Ans o7 1. SR Ud BHR

7K 2. AureE

25 3.9 EH

X 4. Rer

Question ID : 81616112842
Status : Not Answered
Chosen Option : --




U.423 11+ H Y <hlv HIRdAIY URIclIUch dRlch g7
Ans o7 1. 3R TH. TGRS

K 2. iRg @=T

75 3. genld e

72X 4. TG W

Question ID : 81616112450
Status : Not Answered
Chosen Option : --

Q.24 T3YRT 1 Irsd et et w=TAT AT 82
Ans X 1.21 Wt

K 2. 12 A
7 3. 21 ST

7K 4.3 IR

Question ID : 81616112851
Status : Not Answered
Chosen Option : --

Q.25 =1 H 9 fora Tsg 3 wd<is gATE! SimeRor 2020 & fog Wy [ReRR shdr 82
Ans o7 1. 99el

X 2. Ffe
X 3. awet
X 4. firsia

Question ID : 81616114169
Status : Answered
Chosen Option: 3

Section : Quantitative Aptitude

1 25+ 150f4X[4+5 X (9—7)]— (20+5 0f 9) @ AT AT HLI

Ans

<1

(75 I I S I/ I

X2

?5

&
N ¢
O [t O

Question ID : 81616113970
Status : Answered
Chosen Option: 4




Q.2 T §eg & FT O & AT FA15 156 om g1 i 160 om AT FEIR ait 5 O1F WHE H ANHA
A & o T & Wl on &7 Aked S F 0.8 om Fr IR A ¥ F F g & e o 2

Ans ¢ q, 15
2 20

Question ID: 81616114173
Status : Answered
Chosen Option : 2

Q.3 AABC #, DE || AB &, /@i D 3l E w#er: sf=msit AC 3t BC W fiig &1 afg AD = x—3, AC = 2x,
BE = x—2 3R BC = 2x+3 & & x & &« 9 FI

Ans *K 1. 8
<212
739
X410

Question ID : 81616113985
Status : Answered
Chosen Option: 3

Q4 S gFEeR, TOF a8 R 16% TE &0 &1 Te & & ag o, 30 8% v @t grew ¥ ARY ag ¥1,800
3ifra FFa Ao aFg W 16% & oI, 8% N T IaT §, Y I WA A (GUAGE F & FAH
% TE) AT T

Ans K118
<2 18.31
3 18.29

<419

Question ID : 81616112457
Status : Answered
Chosen Option: 3

95 4(sin*30°+ cos* 30°) — 3(sin? 45° — 2 cos? 45°) & HIT AT H
Ans 7(1- 1

K22

K30

s4 4

Question ID : 81616114190
Status : Answered
Chosen Option: 4




Q.0  IiYe T ¥ TR g T T SO &)X R, FY Arad W 2 a9 7 32,91,600 ¥R 3 AW H
73,14,928 & ST §1 T40,000 Fr I & AT TAS @ X W, 2 ¥ F qeq WUROT @ € HA) AT
X

Ans - X1. 7,500
2 9,600
# 3. 8,000
4. 6,400

Question ID : 81616112865
Status : Not Answered
Chosen Option : --

Q7 ﬁsin(¥)=cos(¥ =& 0° <22 < 90° 3 0° <222 < 90° §, & sin[3(4— B)]

T AT AT HL
Ans 1
&1 5
X2 1
x3 V3
2
1

Ka =
2

Question ID : 81616112876
Status : Answered
Chosen Option : 1

Q8 ue fagnar 7 2490 F & TEGY G| 5HA TF G H 20% @A W A= 3R q@y a8 F 16% AT
T &= A A TG F Fwa gew v gl aF 20% @i R O 98 avg R Hed (2 H) A
Eyl

Ans K1 310
<2 300
K3 280

4 290

Question ID : 81616113974
Status : Answered
Chosen Option : 4




WY  @FEAFT 9 TG F IS Y AR 37F aI¢ 18T T 927 H e &l

AR A6, FIN A X FIT B gaRT 2005 F 2010 T 39%H & e H (10000 == #) ol
FT &1 X — a7 Nt Y PsRIa Far & 3 Y — 317 38701 & 3o1gat (10000 & ) 1 fAeia war |

(e & 71T SeT ShaeT AU 37sTH & forw
21 3 St 3 TrEatae it o

A AL
2005 W 2010 TH B! A 3R BT 8GRI SRDI BT IAGA
(10000 T H)
800
720
5w s80["|
g - 160%80
“ 350
E o 320
B 3 240 250
E w 150
100 D
g L LIL]

s s R -
“FTA s FTRE
2008, 2009 3R 2010 &, H9=T A & 39TH = 3iAT Fewear (10000 e H) d F
Ans 1. 570
<2 620
#3600
#4580

Question ID : 81616112374
Status : Answered
Chosen Option : 1




Q. 1V &1 & 715 difoierl | 1EU 91T 3Tehs, 5 I # Thal [Hedred & did [ Hed-TAed bRl 7 ATAThd oTSehl

Ak wsfrat Fr wear i §
el e Clcsy
201248 |36 40 |35 35 |45
201442 |43 42 |32 32 (42
201645 |42 38 (30 36 |38
201839 |46 41 |23 28 |34
202036 |43 39 (30 39 |41

T 2012 ¥ 2020 TF, Fel HHT F TTH A FoT TEAT, R TR F T5H H T wE;

¥ e gl s 2

Ans 1.
X2

3

0

X 3. ZE
41

X 4. 4E
21

Question ID : 81616112376
Status : Answered
Chosen Option: 1

Q11 ¢ 79 6 5 F urr & Aol RKer & 27 km & g 3R ury i RRw # 33 km H gl a7 = B
o & AT #, 77 79 orT & Reda fRrr F 36 km & g Ak o Fr fGaw F 22 km F gf aw
X TRl &1 TE AT o Hr A fGw # 36 km Fr gl 3R awr Hr fe=w F 44 km F gf e
AT H T HE?

e X1 8 g 10 e
X2 8 ge 30 Hee
“3 8 g
K4 7 gg 50 e

Question ID : 81616112463
Status : Not Answered
Chosen Option : --




Q12 8T ®REE #, 39 Ay § =eg 3o &lae Aqy (3100 & FUIST H) &I HAT & IR W (A, B, C,
D, E) wier wagl & seifepar fhar orenm #1 g ARea & @ fRely off Ay & 3w Asigdr 2100 @ wdw
T ¥ de @ R e st & Aenw § wege e

14
12
12 11

TN 9t e

o N & @ »

]

4 5 6 7

e wergh

Mg & FaUF A B ST F & v g v v §, e Sfw Asigdr €700 i 2800 &
I ¥, O FREW F W TR FEHd H AT SFF Al (Prereaw T %) 1

Ans K 1.2400
X 2. 3467
3 3455
x4 3445

5}
w

Question ID : 81616113589
Status : Not Answered
Chosen Option : --

Q.13 v iR HeT FT SATET 1764 m? %|mmmqr#ﬁa?§é,mmmaﬁrgmﬁrg ¥k
SHET TaTs, THHT A F A TN A3 F1 215 9 m? WX W, Tk F GATA FA BT A9 (2 H)
Eickodl

Ans 1. 4,290
<2 4,200
x 3. 4,320

4. 5,880

Question ID: 81616114181
Status : Answered
Chosen Option : 4




1% +an?30° + sin?90° + cot?260° + sin?30° cos*45°
5in60° cos30° — cos60° sin30°

H " AT B

Ans 47
X1 —
12

43
g2 =
12

37
K3 —

12
25
y

12

QuestionID: 81616113181
Status : Answered
Chosen Option: 2

O gfrx?+ 4y?2 =533Tx— 2y =58 ar«® — 8y® & AT T HL
Ans X1. 85

K2 -85

/<3 1565

4 335

Question ID : 81616112871
Status : Answered
Chosen Option : 4

Q.16 AR 3t e, vF &3 ar waAw 10 R 3K 15 o & 9@ #¢ #=a &1 59 14 & v 34,500 #r
T ImEReT W TS o) TR iR T 7 3 RF oF vF @y Peer 9 e a1, el &
Frr & afder w¢ R ar&,gws%ﬂﬁwgsm 3R T T Y A TR € FH) A F:

Ans 1. 750
x21,071
#3800
x4.1,500

Question ID : 81616112866
Status : Answered
Chosen Option: 1




Q.17 Elﬁx+y=2 ‘}ﬁj‘-i+$=§ %’I a’r(x?’—l-yg) EFI'HI?-l'?ﬂFI'EF\\i']

Ans

X132

w2 42
3

1

K3 3=
3

3

Xa 4=
5

Question ID : 81616113980
Status : Answered
Chosen Option: 2

Q.18 afy Bl Fewr 7 wger 15% #r fe &icr &, AT 15% Hr w2l &, o swer qRomer 782 gem Il
T gEm # 9ger 25% N FAT @Y, T 25% F IR @ i R ¥ 20% FHr FA @, O aRomr T
AT B

Ans x 1. 150
<2712
<3 750

4 600

Question ID : 81616112862
Status : Not Answered
Chosen Option : --

Q.19 afy 5306P2 Fwwm, 3 & Remew &, A P & 31ferad AW 3R eas A F T F G AR A R
Ans  X1. 36

<2 68

<3 80

X486

Question ID: 81616112858
Status : Answered
Chosen Option : 3

20 afx p—2q =33 pg=5¢, ar (p* —8¢®) F AT AT HI|
Ans 1117

X2 72

X3 —63

x4 27

Question ID : 81616112466
Status : Answered
Chosen Option : 1




Q.21 A ABCISICIIDEd 11 a CUCIe Wit center U, such ar L ACE = 115 ¥. U IS joined 10 A. What 1s the measure oI £ UABY

Ans X 1. 20°
< 2. 3Q°
#< 3 350

¥ 4. 25°

Question ID : 81616114185
Status : Not Answered
Chosen Option : --

Q.22 %z O 3ty gea #, AB 3 CD oo/® % Uw &1 987 & & FAWCR hare g1 3f AB = 12 em, CD =
18 cm 3R Siamait AB 3Rk CD & &= i gfr 3 em &, & Ied ¥ BT (em FH) 7 F

Ans "?(1. 9
X2 15
K312

4 313

Question ID : 81616112873
Status : Answered
Chosen Option : 4

Q.23 Ry ar g2 MW, 2014 ¥ 2018 o 5 I & =TT & 3 3R TiE (0T @) oefar ¥

o 3 o e
700
620
580
600 550 3
& 500 45020
200 420 420
- 380,
% 400 350
» 300
200
100
0
2014 2015 2016 2017 2018

ai st 7 sta e ik e s @ s e
Ans X1.218 : 247

K2 247 : 109
3247 : 218
<4109 : 247

Question ID : 81616113587
Status : Answered
Chosen Option : 1




W.24 AABC &, 8T AC &I Aea-fag D 3R 8o AB W T 1g E 38 &R ¢ & EC, BD & 13g F W
TACRSIST X ¢l Ife AE = 30 cm ¢, @ EB & arg A1 #

Ans X110 em
<220 cm
<318 cm
4 15 cm

QuestionID: 81616114188
Status : Not Answered
Chosen Option : --

Q.25 12, 18, 3R 6 @ FFAFT (Fourth proportional), k 3R 6 ¥ FAATT & TR &l k & AT 71T
Ans aj; 1. 4

X2 3

<3135

X4 346

Question ID : 81616112460
Status : Answered
Chosen Option: 3

Section : English Comprehension

Q.1 Select the most appropriate synonym of the given word.

Adjust
Ans X 1.Change
X 2. Move
<~ 3. Adapt
K 4. Shift

Question ID : 81616114210
Status : Answered
Chosen Option: 3

Q.2 Select the most appropriate option to fill in the blank.

My New Year's
Ans X 1. repetition

is to think positive always.

75 2. confession
#< 3. celebration
7 4.resolution

Question ID : 81616112907
Status : Answered
Chosen Option : 3




Q.3 Select tne OplioN TNat can be Used as a One-word supstitute Tor the given group of words.
A place in a large institution, for the care of those who are ill
Ans X 1.Hangar
«# 2. Infirmary
2} 3. Dormitory
< 4. Hostel

Question ID: 81616112903
Status : Answered
Chosen Option: 3

Q.4 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. Whichever soonest made a traveller take off his cloak should be accounted the more
powerful.

B. They agreed to put the point to test.

C. A dispute once arose between the wind and the sun to decide which was the stronger of
the two.

D. The wind began, and blew with all his might and sent a blast, cold and fierce as a storm.

Ans 7 1.CBAD
< 2. ACDB
7 3.BCDA
< 4.CDBA

Question ID : 81616114006
Status : Answered
Chosen Option : 1

Q.5 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

Raman putted the vegetables / in the frying pan / and after adding some water, / closed the
lid.

Ans X 1.closed the lid
7} 2.in the frying pan
X 3. and after adding some water

< 4. Raman putted the vegetables

Question ID : 81616112884
Status : Answered
Chosen Option: 4

Q.6 Select the option that expresses the given sentence in reported speech.

"Is the door closed?" Alka asked Tarun.
Ans ¢ 1. Alka asked Tarun whether the door was closed.

7% 2. Alka asked Tarun is the door close.
2% 3. Alka asked Tarun if the door is closed.
2% 4. Alka asked Tarun whether she closed the door.

Question ID : 81616114199
Status : Answered
Chosen Option: 1




|
Ans

Q.7 Selectine most appropriate synonym ot the given word.

ack
<7 1. Careless

X 2. Lively
X 3.Keen

#< 4. Active

Question ID : 81616114211
Status : Answered
Chosen Option: 1

Q8 S

Ans

elect the most appropriate option to fill in the blank.

X 1. questioned
< 2. probed

X 3.inspected
<7 4. analysed

We the marks of the students on different subjects and compared their performance
for the year.

Question ID : 81616114221
Status : Answered
Chosen Option: 4

Ans

The recruiters / were pleased / to John's / domain knowledge and personality.

X 1. were pleased
«# 2.to John's
X 3. The recruiters

25 4. domain knowledge and personality

Q.9 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

Question ID : 81616112479
Status : Answered
Chosen Option: 2

Q.10

Ans

Select the most appropriate meaning of the given idiom.

A storm in a teacup
«# 1. Lot of fuss that will soon be forgotten

#< 2. Disarranging the cutlery
7% 3. Unnecessary tension

2< 4. A sudden storm during teatime

Question ID : 81616112498
Status : Answered
Chosen Option : 1




Q.11 Select e INVUKKEU ILY Spelt word.
Ans X 1. Perpetuate

#< 2. Professional
#< 3. Electronics
«# 4. Dillemma

Question ID : 81616114017
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate meaning of the given idiom.

At the eleventh hour
Ans X 1. 0One hour before midnight

#< 2. At 11:00 p.m.
«# 3. At the very last minute
< 4. At 11:00 a.m.

Question ID : 81616112497
Status : Answered
Chosen Option: 3

Q.13 Select the option that can be used as a one-word substitute for the given group of words.

A group of stars
Ans X 1. Astronomy

#< 2. Planets
X 3. Congregation
w7 4. Constellation

Question ID : 81616112904
Status : Answered
Chosen Option: 4

Q.14 Select the option that expresses the given sentence in passive voice.

Help the needy people.
Ans X 1. Let the needy people being helped.

«# 2. Let the needy people be helped.
#X 3. The needy people are helping.
25 4. The needy people are been helped.

Question ID: 81616112885
Status : Answered
Chosen Option : 2




Q.15 Select the OpTIoN That Wil SUDSTUTUTE the underiined part of the given sentence. In case no
substitution is needed, select ‘No substitution required’.

Among applied sciences, medicine is one which have given man some power over death.

Ans X 1. are one which given
75 2. is the one which gave
X 3. No substitution required

«# 4.is one which has given

Question ID : 81616114201
Status : Answered
Chosen Option: 2

Q.16 Select the INCORRECTLY spelt word.
Ans X 1. Competency

#< 2. Boundary
2% 3. Processing
«# 4. Photgraph

Question ID: 81616114016
Status : Answered
Chosen Option: 4

Q.17 Select the most appropriate ANTONYM of the given word.

Hazard
Ans X 1.Gamble

K 2. Risk
2% 3. Peril
<7 4. Safety

Question ID : 81616114010
Status : Answered
Chosen Option: 4

Q.18 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. 1 was shocked to find my house unlocked.

B. To my astonishment, | found that my son, who had a spare key, had come in my absence.
C. Last Sunday I returned home late at night.

D. I ran inside in fear that my house has been robbed.

Ans X 1.ABCD
<7 2. CADB
2 3.BCDA
< 4.CDAB

Question ID : 81616112492
Status : Answered
Chosen Option: 2




U.1Y Select the MOST appropriate option 10 SUDSUTUTE The underiined segment In e given
sentence. If no substitution is required, select ‘No substitution required’.

| asked Rahul that how far was his office from his home.
Ans ¢ 1. how far his office was
< 2. No substitution required
2X 3. that how far his office is

< 4. then how far was his office

Question ID : 81616112887
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate ANTONYM of the given word.

Magnificent
Ans X 1.Opulent

«# 2. Modest
X 3. Grandiose
25 4. Mighty

Question ID : 81616112496
Status : Answered
Chosen Option: 1

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

“Everything in Bhutan is chemical-free, all fruits and vegetables are (1) organically, so
whatever you buy is (2) farm produced as the (3) of the population indulge in
farming for (4) . says my taxi driver Karma Chime. “We use turmeric on wounds, also to
dye (5) and it is added extensively in our cooking. Also, many believe it is anti-cancer
and can treat tumours.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.grew

25 2. grow
«# 3.grown
X 4. grows

Question ID : 81616114001
Status : Answered
Chosen Option: 3




somprenension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

“Everything in Bhutan is chemical-free, all fruits and vegetables are (1) organically, so
whatever you buy is (2) farm produced as the (3) of the population indulge in
farming for (4) ;' says my taxi driver Karma Chime. “We use turmeric on wounds, also to
dye (5) and it is added extensively in our cooking. Also, many believe it is anti-cancer
and can treat tumours.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.nearby

«# 2. locally
X 3. closely
2% 4. nearly

Question ID : 81616114002
Status : Answered
Chosen Option: 4

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

“Everything in Bhutan is chemical-free, all fruits and vegetables are (1) organically, so
whatever you buy is (2) farm produced as the (3) of the population indulge in
farming for (4) ;' says my taxi driver Karma Chime. “We use turmeric on wounds, also to
dye (5) and it is added extensively in our cooking. Also, many believe it is anti-cancer
and can treat tumours.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans  # 1. majority
25 2. mass
25 3. community

2% 4. common

Question ID : 81616114003
Status : Answered
Chosen Option: 1




somprenension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

“Everything in Bhutan is chemical-free, all fruits and vegetables are (1) organically, so
whatever you buy is (2) farm produced as the (3) of the population indulge in
farming for (4) ;' says my taxi driver Karma Chime. “We use turmeric on wounds, also to
dye (5) and it is added extensively in our cooking. Also, many believe it is anti-cancer
and can treat tumours.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1. provision

25 2. nutrition
X 3. conservation

<7 4. sustenance

Question ID : 81616114004
Status : Answered
Chosen Option: 2

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

“Everything in Bhutan is chemical-free, all fruits and vegetables are (1) organically, so
whatever you buy is (2) farm produced as the (3) of the population indulge in
farming for (4) ;' says my taxi driver Karma Chime. “We use turmeric on wounds, also to
dye (5) and it is added extensively in our cooking. Also, many believe it is anti-cancer
and can treat tumours.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1. covering

2% 2. fashions
75 3. attires
«” 4. garments

Question ID : 81616114005
Status : Answered
Chosen Option: 4




